#### BID PROPOSAL

PLACE: Norman. Oklahoma

DATE: 01/30/2024

PROJECT: BID 2324-38 ROCK CREEK AND WARD 7 SIDEWALKS

Proposal of:

Arroyo's Concrete LLC

(hereinafter called

"BIDDER") a corporation/a partnership/and individual (strike out inapplicable terms) doing business in the State of Oklahoma

To: The Honorable Mayor and City Council The City of Nomlan, Oklahoma

#### Council members:

The undersi gned, as the Bidder, declares that before preparing their bid, they read carefully the instructions to Bidders, the general conditions, and the general detailed specifications, examined the form of the Contract and the several bonds and the infom lation blanks to be submitted, and that he is familiar with all the provisions of the same and with all the requirements of the complete Contract to be entered into bonds to be executed; thal he has carefully examined the specifications for the proposed work on file wilh the City Clerk, Purchasing Agent, and Director of Public Works, that he has examined carefully all local conditions, has informed themselves by their independent research and soundings of all the difficulties to be encountered, has judged for themselves of the accessibility of the work, and the quantities and character of the materials to be encountered or excavated and all attending circwl 1 Stances affecting the cost of doing the work and the time required for its completion and that this bid is made with full knowledge of the difficulties that may be encountered and the kinds, quantity, and quality of the work, and materials required or to be encountered, and with full knowledge of all specifications and estimated and all provisions of the Contract and bonds, gained by the independent research of the Bidder.

Said Bidder proposes and agrees that if their proposal is accepted, they will enter into a Contract with the City of Nonnan, within ten (IO) days after the acceptance of their bid, for the furnishing of all necessary machinery, equipment, tools, la bor, and materials of construction and to perfon11 all work necessary to erect, construct and install the structures and appurtenances complete in place in the manner and under conditions required by the Contract and by the specifications the refore, on file in the Office of the City Clerk, Purchasing Agent, and Director of Public Works, Nonnan, Oklahoma, for the following amounts of:

Two hundred one thousand one hundred thirty-two dollars and thirty-six cents

Dollars

(In Words)

(\$) **201,132.36** 

(Numeric)

The Contractor hereby agrees to commence work within ten (10) days following issuance of a written NOTICE-TO-PROCEED from the Engineer. The contract period is as follows:

### SECTION 1 QUALIFICATION STATEMENT OF BIDDERS

#### SUBMITTED TO:

Engineering Department	Reviewed	by:	Date			
Date Received:						
CONTRACTOR:						
CIRCLE ONE: Sole Proprietor	Partner	rship Corporation	Joint Venture			
NAME: Emilio Arroyo	************	PARTNER:				
ADDRESS: 1233 SW 41st		ADDRESS:				
CITY: Oklahoma City,Ok 73109						
PHONE: 405-887-4526 PHONE:						
PRINCIPAL PLACE OF BUSINESS:	;	PRINCIPAL PLACE	OF BUSINESS:			
COUNTY Oklahoma STATE	OK	COUNTY	STATE			
IF THE CONTRACTOR IS A CORPO	ORATION	N, FILL OUT THE FO	LLOWING:			
STATE OF INCORPORATION:						
LOCATION OF PRINCIPAL OFFICE						
CONTACT PERSONS AT OFFICE:						
PERSON EXECUTING CONTRACT						
NAME: Veronica Arroyo	ADDI	RESS: 1233 SW 41	ST			
TITLE: Manager (						
PHONE: 405-637-9818		( Application				
NAMES OF OFFICERS: (IF APPLIC						

LIST NUMBER OF EMPLOYEES WORKING FOR CONTRACTOR: 20

LIST ALL EQUIPMENT TO BE USED ON THIS PROJECT: (PLEASE USE ATTACHMENT)

NUMBER OF YEARS IN BUSINESS AS A GENERAL CONTRACTOR ON PROJECTS SIMILAR TO THIS PROJECT:  $_{\mbox{7 Years}}$ 

TYPE(S) OF WORK DONE: (CIRCLE)

Asphalt Paving Water & Sanitary Sewer Lines Storm Sewer Steel Erection Concrete Paving Earth Work Misc. Concrete Bridge Work Painting Channel Lining Demolition Fog Seal **Pump Stations** Landscaping Chip Seal Concrete Structures: Inlets, Box Culverts, Junction Boxes Other: COMMENTS: GREATEST NUMBER OF THIS TYPE CONSTRUCTION CONTRACTS IN EXCESS OF \$100,000.00 UNDER CONSTRUCTION AT ONE TIME IN COMPANY'S HISTORY: 4 GREATEST NUMBER OF THIS TYPE CONSTRUCTION CONTRACTS IN EXCESS OF \$200,000.00 UNDER CONSTRUCTION AT ONE TIME IN COMPANY'S HISTORY: 1 APPROXIMATE AVERAGE OF DOLLAR VOLUME OF INCOMPLETE WORK OUTSTANDING UNDER CONTRACT AT ANY ONE TIME: N/A A LIST RECENTLY COMPLETED PROJECTS OF THE TYPE OF WORK QUALIFYING FOR OR SIMILAR WORK, PLUS THE FOLLOWING INFORMATION FOR EACH PROJECT: PROJECT: 2223-41 Street maintenance alley program OWNER/ENGINEER: Jeff Fordice CONTRACT PRICE: \$499,172.70 YEAR BUILT: 2023 CONTACT PERSON: Jeff Fordice PHONE: 405-366-5493 PROJECT: 2324-2 Urban Concrete Pavement OWNER/ENGINEER: Jeff Fordice 2023 CONTRACT PRICE: \$1,337,100.00 YEAR BUILT: CONTACT PERSON: Jeff Fordice PHONE: 405-366-5493 PROJECT: 2223-77 Miller Ave Curb and Gutter Maintenance OWNER/ENGINEER: Jeff Fordice \_\_\_ CONTRACT PRICE: \$408,102.50 2023 YEAR BUILT: CONTACT PERSON: Jeff Fordice PHONE: 405-366-5493 PROJECT: 2223-37 Urban Reconstruction project OWNER/ENGINEER: Jeff Fordice 2023 \_\_\_\_ CONTRACT PRICE: \$508,568.25 YEAR BUILT: CONTACT PERSON: \_Jeff Fordice PHONE: 405-366-5493 (USE ATTACHMENTS IF NECESSARY)

LIST INCOMPLETE PROJECTS, PLUS THE FOLLOWING INFORMATION FOR EACH PROJECT

LISTED: N/A

PROJECT: OWNER/ENGINEER:
YEAR BUILT: CONTRACT PRICE:
CONTACT PERSON: PHONE:
PROJECT: OWNER/ENGINEER:
YEAR BUILT: CONTRACT PRICE:
CONTACT PERSON: PHONE:
PROJECT: OWNER/ENGINEER:
YEAR BUILT: CONTRACT PRICE:
CONTACT PERSON: PHONE:
(USE ATTACHMENTS IF NECESSARY)
IF COMPANY IS UNDER NEW MANAGEMENT, PLEASE LIST NAMES OF STAFF AND QUALIFICATION AND/OR EXPERIENCE OF SAID PERSONS. (PLEASE USE ATTACHMENT.)
HAVE YOU OR ANY PRESENT PARTNER(S) OR OFFICER(S) FAILED TO COMPLETE A CONTRACT?No IF SO, NAME OF OWNER AND/OR SURETY:
CONTACT PERSON: PHONE:
ARE THERE ANY UNSATISFIED DEMANDS UPON YOU AS TO YOUR ACCOUNTS PAYABLE?
IF SO, GIVE NAMES, AMOUNTS, AND EXPLANATIONS: SURETY:
BANK REFERENCE: Bank:
Address:7701 S. Western Ave
City: Oklahoma City State: Ok Zip: 73139
Contact Person: Karina Phone: 405-616-7506

MUNICIPALITY REFERENCE: City:						
Contact Person:	Position:					
Address:	Phone:					
OTHER CREDIT REFERENCES:						
Name:	Name:					
Address:	Address:					
Phone: Phone:						
In compliance with Invitation to Bid for above mentioned types of projects, the undersigned is submitting the information as required with the understanding that the purpose is only to assist in determining the qualifications for this organization to perform the type and magnitude of work designated, and further, guarantee the truth and accuracy of all statements made, and will accept your determination of qualifications without prejudice. The surety herein named, any other bonding company, bank, sub-contractor, supplier, or any other person(s), firm(s) or corporation with whom I (we) have done business, or who have extended any credit to me (us) are hereby authorized to furnish you with any information you may request concerning performance on previous work and my (our) credit standing with any of them; and I (we) hereby release any and all such parties from any legal responsibility whatsoever on account of having furnished such information to you.						
Signed: Church	Title Manager					
Company: Arroyo's Concrete LLC Date: 12/20/2023						
COPY TO LOCAL UNDERWRITING	OFFICE OF PROPOSED SURETY					
Name: P	Phone:					
Address: C	State:					

#### SECTION 2 QUALIFICATION STATEMENT OF BIDDER'S SURETY

SUBMITTED TO: _	City of Norman, OK	
BIDDER:	Arroyo's Concrete, LLC	
ADDRESS:	1233 SW 41st St., Oklahoma	a City, OK 73109
I. Has this surety	furnished contract bond	ls on contracts now complete? Yes
<ol> <li>Has this surety</li> </ol>	furnished contract bond	ls on contracts nowincomplete? Yes
3. What is the ma	ximum bonding capacity	of this Contractor? \$3,000,000 single / \$6,000,000 aggregate
4. Is the current fi	nancial information on th	nis Contractorsatisfactory? Yes
	on obtained indicate acc If not, give details:	ounts are paid when?
6. Is it your opinio contract? Yes	n that the bidder has sufi	fficient experience and financial resources to satisfactory perform the
		ne commitments or that you do not acquire further information that in your capacity to perform this contract, will you furnish the bonds as specified? Ye
REMARKS:		
SURETY: RLI Inst	urance Company	THE SURANCE COME
SIGNED:	J Mate	CORPOR
BY:Amy Winters	U	M. Z
TITLE: Attorney-In-Fact	and a contract of the contract	BEAL:
ADDRESS:910984 S	5 Moccasin Trl	TID HARRALIMINITE
CITY: Chandler	STATE_OK_	ZIP
i i		

(IN DUPLICATE)

#### **ROCK CREEK AND WARD 7 SIDEWALKS**

a. 178 Calendar Days for all projects except Citywide Sidewalk Reconstruction Project 1. 178 Calendar Days does not include weather days i) Weather days to be determined by the City Engineer 2. Project will expire when project is completed or June 28, 2024 Signed: If partnership, give name address of each member. 1233 SW 41st Okc, Ok 73109 Address: Incorporated under the laws of Oklahoma (State) Oklahoma STATE OF COUNTY OF Oklahoma Veronica Arroyo of lawful age, being first duly sworn, upon their oath deposes and says: That they executed the accompanying bid on behalf of the Bidder therein named for the construction of the above improvement in the City of Norman, Oklahoma, and that he had lawful authority to do so and said Bidder has not directly nor indirectly entered into any agreement, expressed or implied, with any Bidder or Bidders, having for its object the controlling of the price or amount of such bid or bids, the paying to anyone any money for promotion out to any Bidder or Bidders or other persons of any part of the Contract or any part of the subject matter the bid or bids of the profits thereof, and that they have not and will not divulge the sealed bid on such public improvements to any persons whatsoever, except those having partnership or other financial interest with them in said bid or bids, until after the said sealed bid or bids are opened. Subscribed and sworn to before me, a Notary Public, in and for the State of Oklahoma County of Oklahoma , this 30th day of January My Commission Expires: Maria Fernanda Arroyo 02/21/2027 Notary Public

# Bid Proposal Form Rock Creek and Ward 7 Sidewalks College Avenue Lindsey Street to Hoover Street – East Side

Item	Description	Unit	Unit Price (numerals)	Quantity	Total Price
1	Unclassified Excavation Common	C.Y.	\$30.00	100	\$3,000.00
2	Unclassified Borrow	C.Y.	\$30.00	40	\$1,200.00
3	Solid Slab Sodding	S.Y.	\$14.00	718	\$10,052.00
4	Remove Tree 6" to 15" in Dia.	EA.	\$800.00	0	
5	Remove Tree 16" to 24" in Dia.	EA.	\$1,200.00	0	
6	Remove Tree 25" or more in Dia.	EA.	\$2,100.00	0	
7	Removal of Conc. Sidewalk (4" to 6" Thick)	S.Y.	\$17.00	22.22	\$377.74
8	Removal of Concrete Pavement (6" Thick)	S.Y.	\$18.00	128.22	\$2,307.96
9	Removal of Conc. Pavement with Reinf. Steel (6"Thick)	S.Y.	\$18.00	0	
10	Removal of 9" Concrete Pavement	S.Y.	\$22.00	0	
11	Removal of 6" Asphalt Pavement	S.Y.	\$15.00	0	
12	Saw Cutting Pavement/Sidewalk	L.F.	\$7.00	190	\$1,330.00
13	Install 4" Thick Concrete Sidewalk	S.Y.	\$75.00	152.78	\$11,458.5
14	Install 4" Brick Pavers Sidewalk with sand base	S.Y.	\$120.00	0	
15	Removal of Cross Tie Retaining Wall	L.F.	\$20.00	0	
16	Removal of Concrete Retaining Wall	L.F.	\$16.00	0	
17	Install Cross-Tie Retaining Wall (2 ft. high)	L.F.	\$85.00	0	
18	Install Concrete Retaining Wall	C.Y.	\$800.00	0	
19	Manufactured Concrete Block Retaining Wall (ft/course laid)	L.F.	\$75.00	0	
20	Flowable Fill	C.Y.	\$220.00	0	
21	Installation of 6" Concrete (H.E.S. 3000 PSI)	S.Y.	\$80.00	128.22	\$10,257.6
22	Installation of Sidewalk Ramps	S.Y.	\$200.00	12	\$2,400.00
23	Installation of Detectable Warning Surface	S.F.	\$60.00	9	\$540.00
24	Installation of Asphalt Concrete Type B	TON	\$200.00	0	
25	Installation of Pedestrian Conc. Slab Bridge	S.Y.	\$340.00	0	
26	Conc. Curb (6" Barrier – Integral)	L.F.	\$10.00	0	
27	Conc. Curb (8" Barrier – Integral)	L.F.	\$12.00	0	
28	Adjust valve boxes to grade	EA.	\$250.00	0	
29	Adjust meter boxes to grade	EA.	\$250.00	0	
30	Relocate water meter and box	EA.	\$3,000.00	0	
31	1/2" Joint Dowel	EA.	\$12.00	50	\$600.00
32	Reinforcing Steel (Grade 60)	LBS.	\$4.00	0	,
33	4" Pipe Underdrain	L.F.	\$32.00	0	
34	Removal of Curb and Gutter	L.F.	\$18.00	0	
35	Installation of Curb and Gutter	L.F.	\$40.00	0	

## Bid Proposal Form Rock Creek and Ward 7 Sidewalks College Avenue Lindsey Street to Hoover Street – East Side

#### Continued from previous page

	<del></del>				
36	Installation of Guardrail/Handrail Assembly	L.F.	\$250.00	0	
37	Installation of Chain Link Fabric	S.F.	\$18.00	0	
38	Relocation of Irrigation System Piping	L.F.	\$18.00	0	
39	Relocation of Existing Sprinkler Head	EA.	\$50.00	0	
40	Installation of new sprinkler head	EA.	\$50.00	0	
41	Relocation of sprinkler control valve box (back flow prevention and up to 4 control valves)	EA.	\$1,200.00	0	
42	Pedestrian Push Button Cross Walk Actuator and Pole	EA.	\$10,000.00	0	
43	Pavement Marking Removal and Replacement	L.F.	\$15.00	0	
44	Remove and Salvage Signage	EA.	\$350.00	0	
45	Installation of Salvaged Signage	EA.	\$350.00	0	
46	Traffic Control	L.S.	\$6,250.00	1	\$6,250.00

Total Bid \$ \_\_\_49,773.80

Total Bid in Words Fourty-nine thousand seven hundred seventy-three 80/100

# Bid Proposal Form Rock Creek and Ward 7 Sidewalks George Street Lindsey to Madison Elementary School – East Side

Item	Description	Unit	Unit Price (numerals)	Quantity	Total Price
1	Unclassified Excavation Common	C.Y.	\$30.00	100	\$3,000.00
2	Unclassified Borrow	C.Y.	\$30.00	40	\$1,200.00
3	Solid Slab Sodding	S.Y.		1212	\$16,968.00
4	Remove Tree 6" to 15" in Dia.	EA.	\$800.00	0	
5	Remove Tree 16" to 24" in Dia.	EA.	\$1,200.00	0	
6	Remove Tree 25" or more in Dia.	EA.	\$2,100.00	0	
7	Removal of Conc. Sidewalk (4" to 6" Thick)	S.Y.	\$17.00	166.67	\$2,833.39
8	Removal of Concrete Pavement (6" Thick)	S.Y.	\$18.00	177.33	\$3,191.94
9	Removal of Conc. Pavement with Reinf. Steel (6"Thick)	S.Y.	\$18.00	0	
10	Removal of 9" Concrete Pavement	S.Y.	\$22.00	450	\$9,900.00
11	Removal of 6" Asphalt Pavement	S.Y.	\$15.00	0	
12	Saw Cutting Pavement/Sidewalk	L.F.	\$7.00	90	\$630.00
13	Install 4" Thick Concrete Sidewalk	S.Y.	\$75.00	216.67	\$16,250.25
14	Install 4" Brick Pavers Sidewalk with sand base	S.Y.	\$120.00	0	
15	Removal of Cross Tie Retaining Wall	L.F.	\$20.00	0	
16	Removal of Concrete Retaining Wall	L.F.	\$16.00	0	
17	Install Cross-Tie Retaining Wall (2 ft. high)	L.F.	\$85.00	0	
18	Install Concrete Retaining Wall	C.Y.	\$800.00	0	
19	Manufactured Concrete Block Retaining Wall (ft/course laid)	L.F.	\$75.00	0	
20	Flowable Fill	C.Y.	\$220.00	00	
21	Installation of 6" Concrete (H.E.S. 3000 PSI)	S.Y.	\$80.00	177.33	\$14,186.4
22	Installation of Sidewalk Ramps	S.Y.	\$200.00	90	\$18,000.00
23	Installation of Detectable Warning Surface	S.F.	\$60.00	35	\$2,100.00
24	Installation of Asphalt Concrete Type B	TON	\$200.00	0	
25	Installation of Pedestrian Conc. Slab Bridge	S.Y.	\$340.00	0	
26	Conc. Curb (6" Barrier – Integral)	L.F.	\$10.00	0	
27	Conc. Curb (8" Barrier – Integral)	L.F.	\$12.00	0	
28	Adjust valve boxes to grade	EA.	\$250.00	0	
29	Adjust meter boxes to grade	EA.	\$250.00	0	
30	Relocate water meter and box	EA.	\$3,000.00	0	
31	1/2" Joint Dowel	EA.	\$12.00	50	\$600.00
32	Reinforcing Steel (Grade 60)	LBS.	\$4.00	0	
33	4" Pipe Underdrain	L.F.	\$32.00	0	
34	Removal of Curb and Gutter	L.F.	\$18.00	50	\$900.00
35	Installation of Curb and Gutter	L.F.	\$40.00	190	\$7,600.00

## Bid Proposal Form Rock Creek and Ward 7 Sidewalks George Street Lindsey to Madison Elementary School – East Side

### Continued from previous page

36	Installation of Guardrail/Handrail Assembly	L.F.	\$250.00	0	
37	Installation of Chain Link Fabric	S.F.	\$18.00	0	
38	Relocation of Irrigation System Piping	L.F.	\$18.00	0	
39	Relocation of Existing Sprinkler Head	EA.	\$50.00	0	
40	Installation of new sprinkler head	EA.	\$50.00	0	
41	Relocation of sprinkler control valve box (back flow prevention and up to 4 control valves)	EA.	\$1,200.00	0	
42	Pedestrian Push Button Cross Walk Actuator and Pole	EA.	\$10,000.00	0	
43	Pavement Marking Removal and Replacement	L.F.	\$15.00	0	
44	Remove and Salvage Signage	EA.	\$350.00	0	
45	Installation of Salvaged Signage	EA.	\$350.00	0	
46	Traffic Control	L.S.	\$6,250.00	1	\$6,250.00

Total Bid \$ 103,609.98

# Bid Proposal Form Rock Creek and Ward 7 Sidewalks US 77 North of Highway 9 – West Side

Item	Description	Unit	Unit Price (numerals)	Quantity	Total Price
1	Unclassified Excavation Common	C.Y.	\$30.00	100	\$3,000.00
2	Unclassified Borrow	C.Y.	\$30.00	40	\$1,200.00
3	Solid Slab Sodding	S.Y.	\$14.00	300	\$4,200.00
4	Remove Tree 6" to 15" in Dia.	EA.	\$800.00	0	
5	Remove Tree 16" to 24" in Dia.	EA.	\$1,200.00	0	
6	Remove Tree 25" or more in Dia.	EA.	\$2,100.00	0	
7	Removal of Conc. Sidewalk (4" to 6" Thick)	S.Y.	\$17.00	0	
8	Removal of Concrete Pavement (6" Thick)	S.Y.	\$18.00	0	
9	Removal of Conc. Pavement with Reinf. Steel (6"Thick)	S.Y.	\$18.00	0	
10	Removal of 9" Concrete Pavement	S.Y.	\$15.00	0	
11	Removal of 6" Asphalt Pavement	S.Y.	\$15.00	0	
12	Saw Cutting Pavement/Sidewalk	L.F.	\$7.00	50	\$350.00
13	Install 4" Thick Concrete Sidewalk	S.Y.	\$75.00	103.33	\$7,749.75
14	Install 4" Brick Pavers Sidewalk with sand base	S.Y.	\$120.00	0	
15	Removal of Cross Tie Retaining Wall	L.F.	\$20.00	0	
16	Removal of Concrete Retaining Wall	L.F.	\$16.00	0	
17	Install Cross-Tie Retaining Wall (2 ft. high)	L.F.	\$85.00	0	
18	Install Concrete Retaining Wall	C.Y.	\$800.00	0	
19	Manufactured Concrete Block Retaining Wall (ft/course laid)	L.F.	\$75.00	0	
20	Flowable Fill	C.Y.	\$220.00	0	
21	Installation of 6" Concrete (H.E.S. 3000 PSI)	S.Y.	\$80.00	0	
22	Installation of Sidewalk Ramps	S.Y.	\$200.00	6	\$1,200.00
23	Installation of Detectable Warning Surface	S.F.	\$60.00	7	\$420.00
24	Installation of Asphalt Concrete Type B	TON	\$200.00	0	
25	Installation of Pedestrian Conc. Slab Bridge	S.Y.	\$340.00	3	\$1,020.00
26	Conc. Curb (6" Barrier – Integral)	L.F.	\$10.00	0	
27	Conc. Curb (8" Barrier – Integral)	L.F.	\$12.00	0	
	Adjust valve boxes to grade	EA.	\$250.00	0	
29	Adjust meter boxes to grade	EA.	\$250.00	0	
30	Relocate water meter and box	EA.	\$3,000.00	0	
31	1/2" Joint Dowel	EA.	\$12.00	50	\$600.00
32	Reinforcing Steel (Grade 60)	LBS.	\$4.00	0	
33	4" Pipe Underdrain	L.F.	\$32.00	0	
34	Removal of Curb and Gutter	L.F.	\$18.00	0	
35	Installation of Curb and Gutter	L.F.	\$40.00	0	persuposas.

# Bid Proposal Form Rock Creek and Ward 7 Sidewalks US 77 North of Highway 9 – West Side

### Continued from previous page

36	Installation of Guardrail/Handrail Assembly	L.F.	\$250.00	0	
37	Installation of Chain Link Fabric	S.F.	\$18.00	0	
38	Relocation of Irrigation System Piping	L.F.	\$18.00	0	
39	Relocation of Existing Sprinkler Head	EA.	\$50.00	0	
40	Installation of new sprinkler head	EA.	\$50.00	0	
41	Relocation of sprinkler control valve box (back flow prevention and up to 4 control valves)	EA.	\$1,200.00	0	
42	Pedestrian Push Button Cross Walk Actuator and Pole	EA.	\$10,000.00	0	
43	Pavement Marking Removal and Replacement	L.F.	\$15.00	0	
44	Remove and Salvage Signage	EA.	\$350.00	2	\$700.00
45	Installation of Salvaged Signage	EA.	\$350.00	2	\$700.00
46	Traffic Control	L.S.	\$6,250.00	1	\$6,250.00

Total Bid \$ \_27,389.75

# Bid Proposal Form Rock Creek and Ward 7 Sidewalks W Rock Creek West of Stubbeman Avenue – North

Item	Description	Unit	Unit Price (numerals)	Quantity	Total Price
1	Unclassified Excavation Common	C.Y.	\$30.00	50	\$1,500.00
2	Unclassified Borrow	C.Y.	\$30.00	20	\$600.00
3	Solid Slab Sodding	S.Y.	\$14.00	62.22	\$871.08
4	Remove Tree 6" to 15" in Dia.	EA.	\$800.00	0	
5	Remove Tree 16" to 24" in Dia.	EA.	\$1,200.00	0	
6	Remove Tree 25" or more in Dia.	EA.	\$2,100.00	0	
7	Removal of Conc. Sidewalk (4" to 6" Thick)	S.Y.	\$17.00	25	\$425.00
8	Removal of Concrete Pavement (6" Thick)	S.Y.	\$18.00	0	
9	Removal of Conc. Pavement with Reinf. Steel (6"Thick)	S.Y.	\$18.00	0	
10	Removal of 9" Concrete Pavement	S.Y.	\$15.00	0	
11	Removal of 6" Asphalt Pavement	S.Y.	\$15.00	0	
12	Saw Cutting Pavement/Sidewalk	L.F.	\$7.00	50	\$350.00
13	Install 4" Thick Concrete Sidewalk	S.Y.	\$75.00	77.77	\$5,832.75
14	Install 4" Brick Pavers Sidewalk with sand base	S.Y.	\$120.00	0	
15	Removal of Cross Tie Retaining Wall	L.F.	\$20.00	0	
16	Removal of Concrete Retaining Wall	L.F.	\$16.00	0	
17	Install Cross-Tie Retaining Wall (2 ft. high)	L.F.	\$85.00	0	
18	Install Concrete Retaining Wall	C.Y.	\$800.00	0	
19	Manufactured Concrete Block Retaining Wall (ft/course laid)	L.F.	\$75.00	0	
20	Flowable Fill	C.Y.	\$220.00	0	
21	Installation of 6" Concrete (H.E.S. 3000 PSI)	S.Y.	\$80.00	0	
22	Installation of Sidewalk Ramps	S.Y.	\$200.00	10	\$2,000.00
23	Installation of Detectable Warning Surface	S.F.	\$60.00	10	\$600.00
24	Installation of Asphalt Concrete Type B	TON	\$200.00	0	
25	Installation of Pedestrian Conc. Slab Bridge	S.Y.	\$340.00	0	
26	Conc. Curb (6" Barrier – Integral)	L.F.	\$10.00	0	
27	Conc. Curb (8" Barrier – Integral)	L.F.	\$12.00	0	
28	Adjust valve boxes to grade	EA.	\$250.00	0	
29	Adjust meter boxes to grade	EA.	\$250.00	0	
30	Relocate water meter and box	EA.	\$3,000.00	0	
31	1/2" Joint Dowel	EA.	\$12.00	25	\$300.00
32	Reinforcing Steel (Grade 60)	LBS.	\$4.00	0	
33	4" Pipe Underdrain	L.F.	\$32.00	0	
34	Removal of Curb and Gutter	L.F.	\$18.00	35	\$630.00
35	Installation of Curb and Gutter	L.F.	\$40.00	25	\$1,000.00

# Bid Proposal Form Rock Creek and Ward 7 Sidewalks W Rock Creek West of Stubbeman Avenue – North Side

#### Continued from previous page

26	Installation of Countries III to a duril Association	T. =	\$250.00		T
36	Installation of Guardrail/Handrail Assembly	L.F.		0	
37	Installation of Chain Link Fabric	S.F.	\$18.00	0	
38	Relocation of Irrigation System Piping	L.F.	\$18.00	0	
39	Relocation of Existing Sprinkler Head	EA.	\$50.00	0	
40	Installation of new sprinkler head	EA.	\$50.00	0	
41	Relocation of sprinkler control valve box (back flow prevention and up to 4 control valves)	EA.	\$1,200.00	0	
42	Pedestrian Push Button Cross Walk Actuator and Pole	EA.	10,000.00	0	
43	Pavement Marking Removal and Replacement	L.F.	\$15.00	0	
44	Remove and Salvage Signage	EA.	\$350.00	0	
45	Installation of Salvaged Signage	EA.	\$350.00	0	
46	Traffic Control	L.S.	\$6,250.00	1	\$6,250.00

Total Bid \$ \_\_\_\_\_20,358.83

# Bid Proposal Form Rock Creek and Ward 7 Sidewalks Grand Total Bid

	Project	To	otal Price In Dollars
1	College Avenue Lindsey Street to Hoover Street – East Side	\$	49,773.80
2	George Street Lindsey Street to Madison Elementary School – East Side	\$	103,609.98
3	US 77 North of Highway 9 - West Side	\$	27,389.75
4	W Rock Creek Road West of Stubbeman - North Side	\$	20,358.83

GRAND TOTAL BID: \$	201,132.36								
GRAND TOTAL BID IN WORDS									
Two hundred one thousand one hundred thirty-two dollars and thirty-six cents									
Note: A unit price shall be given for all bid items, including those with zero quantities, or the entire bid will be disqualified.  Note: Unless otherwise specified all costs associated with mobilization, construction traffic control, bonds and any other miscellaneous costs shall be included in the unit price costs of other items of work.									
	Bidder Contact Information								
Name and Address of Bidde	er: Emilio Arroyo								
	1233 SW 41ST Okc,Ok 73109								
Contact Person: Maria Arro	oyo Telephone No. 405-637-9818								



#### P.O. BOX 3967 PEORIA, IL 61612-3967 P: (800)645-2402 E: contract.surety@rlicorp.com RLISURETY.COM

### **BID BOND**

KNOW ALL MEN BY THESE PRES	SENTS,		
That We,	Arroyo	's Concrete LLC	
of	Oklahon	a City, OK	
ofas Principal, and <b>RLI Insurance</b>	Company	, of	Peoria ,
Illinois	, as Surety, an	Illinois	corporation duly licensed to
do business in the State of	Oklahoma	_, are held and firmly bound	i unto
Andrews and the second and the secon	City of Norman		, as Obligee, in the penal sum of
			(_5% of the Bid Amount_),
for the payment of which the Princip	-	nemselves, their heirs, exec	utors, administrators, successors and
assigns, jointly and severally, firmly b	y these presents.		
THE CONDITION OF THIS OBLIC proposal or a bid to the Obligee on a c	ontract for	•	
	Rock Creek and V	Ward 7 Sidewalks	•
therefore, or if no period be specified, the faithful performance of the contra pay unto the obligee the difference is obligee may legally contract with ano shall the liability hereunder exceed the PROVIDED AND SUBJECT TO THE be brought against the Surety to recove (90) days after the acceptance of said to	ct, then this obligation shall money between the amount ther party to perform the penal sum hereof.  E CONDITION PRECED for any claim hereunder records	nall be null and void, otherwount of the bid of said print work if the latter amount be DENT, that any suits at law on the content of the con	wise the principal and the surety will neipal and the amount for which the e in excess of the former, in no even or proceedings in equity brought or to
SIGNED, SEALED AND DATED thi	s1stday of	February , 202	24
SEAL	By: _		S Concrete LLC Principal  Attorney in Fact

ADDRESS ALL CORRESPONDENCE TO:

RLI Insurance Company P.O. Box 3967 Peoria, IL 61612-3967 800-645-2402

### **POWER OF ATTORNEY**

### RLI Insurance Company Contractors Bonding and Insurance Company

9025 N. Lindbergh Dr. Peoria, IL 61615 Phone: 800-645-2402

#### Know All Men by These Presents:

That this Power of Attorney is not valid or in effect unless attached to the bond which it authorizes executed, but may be detached by the approving officer if desired.

That <b>RLI Insurance Company</b> and/or <b>Contractors Bonding and In</b> together, the "Company") do hereby make, constitute and appoint:	nsurance Company, each an Illinois corporation, (separately and
Barry Herring, Amy Winters, jointly or severally	
in the City of, State of	e and deliver for and on its behalf as Surety, in general, any and all
The acknowledgment and execution of such bond by the said Attorney in executed and acknowledged by the regularly elected officers of the Compa	
RLI Insurance Company and/or Contractors Bonding and Insuran following is a true and exact copy of a Resolution adopted by the Board of	
"All bonds, policies, undertakings, Powers of Attorney or other obligation the Company by the President, Secretary, any Assistant Secretary, Treas of Directors may authorize. The President, any Vice President, Sec Attorneys in Fact or Agents who shall have authority to issue bonds, policies, and is not necessary for the validity of any bonds, policies, undertakings signature of any such officer and the corporate seal may be printed by fa	curer, or any Vice President, or by such other officers as the Board cretary, any Assistant Secretary, or the Treasurer may appoint licies or undertakings in the name of the Company. The corporate s, Powers of Attorney or other obligations of the corporation. The
IN WITNESS WHEREOF, the RLI Insurance Company and/or Concaused these presents to be executed by its respective	ident with its corporate seal affixed this 4th day of  RLI Insurance Company
State of Illinois  SS  SS  SS  SS  SS  SS  SS  SS  SS	By: Barton W. Davis  Vice President
County of Peoria	CERTIFICATE
On this 4th day of May, 2022, before me, a Notary Public, personally appeared Barton W. Davis, who being by me duly sworn, acknowledged that he signed the above Power of Attorney as the aforesaid officer of the RLI Insurance Company and/or Contractors Bonding and Insurance Company and acknowledged said instrument to be the voluntary act and deed of said corporation.	I, the undersigned officer of RLI Insurance Company and/or Contractors Bonding and Insurance Company, do hereby certify that the attached Power of Attorney is in full force and effect and is irrevocable; and furthermore, that the Resolution of the Company as set forth in the Power of Attorney, is now in force. In testimony whereof, I have hereunto set my hand and the seal of the RLI Insurance Company and/or Contractors Bonding and Insurance Company this day of
Catherine D. Glover Notary Public	RLI Insurance Company Contractors Bonding and Insurance Company
CATHERINE D. GLOVER  OFFICIAL SEAL  PUBLIC P  FATE OF  EARLOS  My Commission Expires  March 24, 2024	By: Jeffrey Derick Secretary
35E5388020212	A0058D19

### Equipment Being Used on Project

- 1. 305 excavator
- 2. 2000 International Dump truck
- 3. 1988 International Dump truck